Doors - Bedside and Wardrobe - Torrington Il




Doors - Bedside and Wardrobe - Torrington Il

Item
Number

Note

Part Number

Description

Quantity Per

Package

Assembly

[

O ~NO U1l © 0O NOOULOoONOOOOPA OWOMNOOODWWOWOOMNOOODWOWOWOWNOONOOWMNORE, ©0~NOO

9

A

1121801

1121806

1121831

1121810

1121815

1121823

1121778

1121783

Kit, Door Panel w/ Hardware - Left (48470)
Door Panel Assembly (48470)

Hinge Plate, Salice

Screw, Phillips Pan Head (#8 x 5/8")

Pad, Felt

Kit, Door Panel w/ Hardware - Right (48470)
Door Panel Assembly - Right (48470)

Hinge Plate, Salice

Screw, Phillips Pan Head (#8 x 5/8")

Pad, Felt

Kit, Door Panel w/ Hardware, Double (48472-2)

Door Panel Assembly - Left (48472-2)

Door Panel Assembly - Right (48472-2)
Hinge Plate, Salice

Screw, Phillips Pan Head (#8 x 5/8")

Pad, Felt

Kit, Door Panel w/ Hardware - Right (48470-2)
Door Panel Assembly - Right (48470-2)
Hinge Plate, Salice

Screw, Phillips Pan Head (#8 x 5/8")

Pad, Felt

Kit, Door Panel w/ Hardware - Left (48470-2)
Door Panel Assembly - Left (48470-2)
Hinge Plate, Salice

Screw, Phillips Pan Head (#8 x 5/8")

Pad, Felt

Kit, Door Panel w/ Hardware, Double (48472)
Door Panel Assembly - Left (48472)

Door Panel Assembly - Right (48472)

Hinge Plate, Salice

Screw, Phillips Pan Head (#8 x 5/8")

Pad, Felt

Kit, Door Panel w/ Hardware - Left (48430)
Door Panel Assembly - Left (48430)

Hinge Plate, Salice

Screw, Phillips Pan Head (#8 x 5/8")

Pad, Felt

Kit, Door Panel w/ Hardware - Right (48430)
Door Panel Assembly - Right (48430)

Hinge Plate, Salice

Screw, Phillips Pan Head (#8 x 5/8")

Pad, Felt

1

PR RPRRPRRPRPRRPRRPRRRPRPRRPRPRRPRPRPRRPRPRPRRPRRPRPRRPRPRRPRRPRPRPRRPREPRRPRERER

1

CDI—‘I—‘l—‘OOCDUOl—‘I—‘wCDO\JI—‘H#B@I—‘Hl—‘wm#l—‘l—‘wmbl—‘

[EnY
[ep)

NANMNPFPPFPNMNDAANPREPE PO

NOTE: A -Includes items 6,7, 8, and 9.




